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Section A (15 x 2 marks}

For each questson from 1 to 15, four opt:ons are glven One of them is the
correct answer. Make your choice and shade the correct oval (1, 2, 3 or 4} on

the Optical Answer Sheet.

1. The pic’t'd're's below show an animal before and after one year.

One year ago One year later

The above shows that the animat is a fiving thing because it can

(1} grow - - - ..

(2) breathe

{(3) reproduce

{4y respond to changes

2 The table beiow shows the characteristics of organisms, W, X, Y and Z.
A tick (v'y shows the organism has the characteristic.

Organism
Charatcteristic ‘ W X Y z
Reproduce from spores v
Can only be seen under a microscope ' v
Get their food fromother living things only | v v v

Which of the organisms, W, X, Y or Z, is most likely a plant?
(1) W

{2y X

3 VY

(4) £

{50 on 10 the next page})
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3 : Jan.et:fbun_d anjmal Q as shown in.ithe dtagtam below.

feclers

legs )

Animal Q

‘Which of the following characteristics about animal-Q telis Janet that it is not.an
insect?

{1} I has no wings.
{2} Ithas eightlegs.

{3) I has a pairof feelers.

(4) It has more ﬂ'!a_n one bcdy }sam

4. Bealrice wants to classify the following animals. into two groups, Group A and
Group B.

Human )
Which of the following is a possible Heading for the two g'reups?-
Group A N Group B

D ~ Have hair : .Hé_ve scales

'('-2) Lay eggs I Give birth tb young
13 1 Have two legs ' Have four legs
| {4) Live on land dnty- _ lee in water only

{Go on to the next page)
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5. The diagram below shows the life eycle of living thing P..

T

aduit _young

Based only onthe life cycéle above, which of the following statements is true?

(1) P lives onland.

(2y P definitely lays eggs.

(3} The young of P does not resemble the adult.

{4) The time taken for P to grow from one stage to another may not be the
same. .

6. The followinig pictures show the different stages in the life cycle of a plant.

At which stage{s) of the life cycle does the plant make its own food?

(1} Donly '

(2) AandBonly B
(3) AandDonly

(4 A.B,CandD

{Go on to the next page)
A3
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¥he piclure below shows how the leaves of a plant may grow. It was observed
that the leaves of most pfanfs grow ina way thaiéo not overlap each other too

©ougch

Which of the following best explains the reason for this observation?

(1) The plantcan take in more water.
{2). Theplant can look more beautiful.
{3) Theleaves can take in more gases.
{4y The leaves caritake in more suniaght

There was heavy rain and: strong winds on a storpy day. A free fell onto a-

house as shown below.

Which of the following best explains why the tree fell?

™
(@)
3
43

The stem cannot hold the tree upright.

The stem cannot support the weight of the tree.
The roots cannot absorb water from fhe ground.
The roots cannot hold the tree firmiy to the gound.

{Go on to the next page)
A-4
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9. Kelly conducted an experiment with three similar plants, A, B and C. She cut off
all ihe leaves from plant A and only some leaves from plant B. No leaves were
it from piant C. ' . ,

Plant A Plant B

Kelly then placed each plant in a container with 300 ml of water. The plants
were placed at the same location. A layer of oit was added to prevent water
loss to the surrounding air.

~ Kelly recorded the amount of waterleft in each container the next day.

' i
Plant Amount of water leftin the container after one day (ml)

A ! 250

B i 180

el e

- e smm——

The aim of the experiment is to find out if the

(1}  roots of a plant absofb water

(2) stemof a plant absorbs water

{3) type of plant affects the amount of water taken in by the plant

(4} number of leaves affects the amount of water taken in by the plant

{Go on to the next page)
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18. Thefo“‘“”'"g ‘objects 3"3 grouped according to ﬁiemateuais.mey are made

Groupt | Grouwpz | -Gréup.a 1 '-GrgupJ
tyre book. |  towel |  coin

| sraser | newspapers | bedshest | peporcip

In whieh group should a "ballcon™ belong to?

(1) Group 1
{2y Group 2
3 Group 3
{4y Group 4

11.  Fourchildren, Heidi, lan, Jay and Kelly, visited a playreom at the Seience
" Centre. There are four walls built with materials A, B, Cand'D, inthe ’
playroom. ;

Wateriaj | Alows most light | Allows some light | D0es not aliow
1 | topassthrough | to pass through hgl;!t r:::} ug:ss

4

Giaim|»
<,

e

The children stood behind the walls as shown in the diagram below,

prre— - —

- Heldl

Which of the Tollowing statements is true?

(1) Heidi can see Jay.
(2) Kelly can see Heidi.
{3) Jaycan see lan and Kelly.
{3} lan can see Heidi and Jay.
{Go onto the next page)
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. 12. Kenwanted to make a swing for his son. He tested out four different materials
J, KL arid M to make part T-of the swing as shown in the diagram below.

In the experiment, Ken put weights on the seat of the swing and tecorded the
total mass Part T could hold before it broke in the table below.

Material | Total mass that Part T could hold before breaking (ka)
J . 44
K 52
2
M 20

Based on the information in the table

has a weight of 23kg?

(1) Konly

(2} JorMonly
{3) KorLonly
{(4) K, LorMonly

www.testpapersfree.com

. which material should Ken use if his son
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14.

Gary tied a string to a bar magnet as shown below.

~== bar magnet
He pushed the magnet gently and it came 1o rest after some-time.
In which direction would the bar magnet point when at rest?

() eastwest
(2} north-west

(3) norh-south : -

(4) souffreast

Aaron found two abjects Qrand R, ina box. He placed one end of a bar magnet
near each object:and recorded his observations in the table bejow.

3

Object Observation

R

1 o et s e s

T

L *
a 1 Moved towards the bar magnet ]

; il -rot move i

S

" Based.on his observation, which of the following correctly shows what objects Q

l@ |- Needie
1(4) | Steelruler

and R couid be?

Object Q Object R

) | Awmitiim foil

ey

Plastic spoon

Steel ruler

e s e e e

'Prasxic;spbon

Aluminium fojt

Needle

{Go on 1o the next page)
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15. Study the amangement of the three magnets below. They are attracted to each
- pther. - .- i - , L

Three students made the following statements based on the arrangement
above.

Jane : Cwilrepel E.
Kate - Awillatiract F
Louis : F willattract D .

Which of the siatement{s) below isfare correct’?

(1} Janeonly - R -
(2) Kate only

(3) Jane and Kate only

(4) Kate and Louis only

END OF SECTION A
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Saction B: 20 marks

Read the guestions carefully and write your answers in the spages provided. -

-

16 Study the classification chart below.

Ofganism
| |

Has hair :  Has feathers
| I | P
——  _C |

: ook Cannot | S _ Cannot
Can swim | swin Gan swu'n - swim
[ t | I
E | L G -l H

(a) Based on the classification chart, state the characieristics of organism H. [1]

(b} The picture below shows organism A.

Organism A

Based on the classification chart, write down one difference between
organism A and organism E. i1}

{Go on fo the next page)
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1 ? Joe wanted to find out if the amount of water will affect the amount of mould
. growing on bread. 'H& addéd different drops of water to four similar pietes of
. “bread, W, X Yand 2. He piaced ail the four pieces of bread in a cupboard for
‘*ﬁye days

‘He. recarded hlS observahons after five days in the table below

-

e T x T
- | ‘Numberof drops | o |

- ofwater | 2 ¢ 8 ?

| How the bread |

| looks afier 5 days.

(a) From the results above, how does the amount of water affect the growth. of
bread mould? Complele the feﬂcmnng sentence by carcfmg the correct

-answer in the brackets. - ¢ R

The { more / less ) the amount of water on the bread, the
{ more | less ) the mould will grow on the bread.
(b) Joe wanted to conduct another experiment to find out if warmth is ngéded

for bread moulkd to grow. Which of the following vanable{s) must Joe keep
constant in order for the experiment to be a fair test?

Put a tick {v") in the correct box{es). ]

Condltaon T Tick ('} : _ |

:‘_SIZB of bread -

Arnount of water

| Temperature of the surrounding
where bread is placed :

{c) Which group of tiving things does the bread mouild belong to? m

{Go on to the next page)
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. 18. The diagrams be!qw'ahc_w the stages in the fife-cycle of a beetle.

L7,
. \ &
0 &
D a5
Stage P Stage Q Stage S

{a) Arrange the stages P, Q, R and S to show the life cycle of he beetle.  [1}

(by The grasshopperis also an insect, just like the beetle. State one differerice
between the fife cycle of a beetle and the life cycle of a grasshopper. {1

{Go on to the next page)
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19. Inan, expenment j,ydia put three similar seeds between two types of sml dry
and mcust m =} contamer as shown below." -

,-_

- mojst soil

Lydia then placed the coritainer in her classroom. The next day, the seeds
germinaled. In which direction would the roots of the seeds grow tﬂwards’?

.. Explain your answer. : 2]

(Go on fo the next page)
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;20. . Arul ebserved Plant G growing in his garden.

wooden stick
PartE

{a) Plant G grows on a wooden stick, which is a support for the plant to grow.,
What does this show about the stem of Plant G? - i1l

(b) Explain how growing on the wooden stick will help the ieaves of Plant G. [1]

(c) Part E is the fruit of the plant. When A opened up the fruit, he saw some.

seeds inside it. How are the seeds useful 1o the plant? 1]
{Go on to the next page)
3
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21. Study the flowchart below. -

“Does it float on
~_waler? -

(a) Based on the flowcharl, write down one similarity between objects &-and H.
(1]

{b) Using the information from the flowchani, write the letters E, F, G or H that
best describe the objects below. 0

e

QObject ‘ ietter

|

1 .
; plastic bag

‘wooden chopsticks |

¥

1

(Go onto the next page)
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22, Raju.set up an experiment o find out how rmuch water three pieces of fabric, A,
Band.C can absorb. Al the fabnc are of the, same size. He dipped one end of

each pietae of fabric inte a container of blue coloured water as shown below.

" FabicA FabricB FabricC
| } |

- - ’;—. - 3 T T

blue coloured
L~ water

The distance that the blue coloured water travelled up each fabric after five
minutes is recorded in the table below.

Fabric A Fabric B Fabric C

Distance that blue coloured 5 18 10
water travelled up fabric (¢m)

(a) Arrange the fabrics in order of their absorbency, from the least absorbent to

the most absorbent fabric in the boxes provided. [

Least ca— Most
absorbent absorbent

Question 22 continues on the next page.

{Go or to the next page)
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Question 22 continues on this page. .

(b). Raju had an umbrelia and he cuta piece of fabric T as shown below.

‘Raju then dipped one end of the fabric T into the container with blue coloured

{) Whalis the dislance that the blue coloured water would most likely to

travel up the fabric? ] '
om
{ii) Expfain your answer in (). {1

(Go on to the next page)
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23. Emrly labelled four parts, J, K, L and M on a bar magnet, A. She placed the bar
magnet into 2 bomof F pins ¢ and noticed that the pins were attracted to the -
magnef. She recor;}ed hef observation in the bar graph shown below

_ n;iﬁbe;:of pitis
-attracted
.k

B 1733 it

Parts of bar magnet A

'(a} 'Based on the infonnétidn, which two parts represent the poles of 'the bar _
magnet? i1

(b) Explain your answer in (a). 1

Question 23 continues on the next page.

{Go on to the next page)
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Question 23 continues on this page. Lt

P -

~Bar magnel A

Howewer her brother, Jack.y, sald that what' Emﬂy had observed could not prove
that. QbJEG! Gisa magnet

{c) Suggest what Emily.could do to prove that object G is-a magnet. M
1
End of Paper
B0
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YEAR 2020
LEVEL PRIMARY 3
SCHOOL : AITONGSCHOOL
SUBJECT : SCIENCE
TERM :  END OF YEAR EXAMINATION
Q1 (1 a2z |4 Q3 2 as {2 o5 |4
a (3 la7 (4 leg {4 (@ |4 Q10 |1
Qi1 |3 |01z |3 |a13 [3 a4 {3 jai15 |3
ale {a)Organism H has feathers and is not able to swim.
: (b)Organism A has feathers as the outer covering but
Organism E has hair as the outer covering
Q17 (ajmore
- .more
{b) Size of bread, Amount of water

(c) The bread mould belongs to fungi

Q18 f((a)r—~ P =+ Q
- (b)The beetle has a four stage life cycle but the
grasshopper has a three stage life cycle.

Q19 | The roots of the seeds will grow towards the moist soil
because it needs to absorb the water in order for the plant
to survive.

020

(a)This shows that the stem of plant G is weak.
(b) Growing on the wooden stick will help the leaves
absorb more sunlight to make more food.

(c)The seeds are useful to the plants because they help |

the plants to reproduce.

Q21

(a)Object G and H does not break when bent
(b)G, E

Q22

(aJA, C, B

(b}{i)0cm

(if)Fabric T will not absorb any water because it is
waterproof.
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(a')l( and M because K ant- M attracted the most num__béf
| of pins. A magnet is the stronget part at itspoles.
(b)it is K and L because a magnet:is always strongest at its

| poles.

{c)Emity could turn Object G to the otherssde and show

_ Athat it n—:—pelled Bar magnet A,
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